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QUESTION 1

At most, a zone can belong to how many networks?

A. 0 (Zones do not belong to networks, zones contain networks.)
B.1

C.2

D. as many as needed based on the Network Model

Correct Answer: B

QUESTION 2

Which ArcSight Solution works as a GPS for privileged user activity that identifies unusual hehavior?
A. ThreatDetector

B. Pattern Discovery

C. IdentityView

D. IdentityCorrelation

Correct Answer: B

QUESTION 3

Which role does the Active Channel play in testing a rule?

A. The rule can be replayed and verified against real-time events in the Active Channel.

B. The rule can be replayed against historical events in the Active Channel.

C. The rule cannot be tested with the Active Channel because it will create additional invalid Correlation events.
D. The rule can only be tested with an Active Channel by an administrator.

Correct Answer: B

QUESTION 4
What does Partition Archiving allow you to specify?
A. the number of partitions to keep offline

B. the number of partitions that remain online
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C. the compression ratio to be used in partitioning
D. the amount of data to store in a partition

Correct Answer: A

QUESTION 5

What is a bundle?

A. a set of resources that makes up a package

B. a data transmission containing SSL information
C. a set of raw log events before they are parsed
D. a container for one or more packages

Correct Answer: D
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